
Medline Alterra Parts 
Model FCE1232B

941-342-7725



Num Item Number Linak Part # Description

1 65-1232001 Locating square tube 
for head board

2 65-1001 N/A Head Section 
Bed Deck

3 65-1003 N/A Seat Section 
Bed Deck

4 65-1002 N/A Foot Section 
Bed Deck

5 FCE1232005 Not Orderable Foot section elevation 
bracket

N/S FCE12320005 N/A

Replacment  
Plastic Insert 
for side rail 

mounting pins

6 65-1010 Leg-lift support



7

65-1232007 
DISCOED with 

stock

N/A

Head Section H-Frame8

65-1232008
No longer 
available

N/A

Foot Section H-Frame

9 21-1068 N/A 3" Twin Wheel 
Non- Locking Caster

10 21-1067 N/A 3" Twin Wheel 
Locking Caster

11 FCE1232011 Not Orderable Elevation Arm
12 FCE1232012 Not Orderable Baseboard bumper

13 65-1006 LA27-C003-00 Head Actuator

14 65-1007 LA27-C106-00 Foot Actuator

15 65-1008 270180-00

Hi-Low Actuator All 
FCE1232 beds

manufactuered in 
AUG 2013 and OLDER

15 65-10082 LA27-C262-00

Hi-Low Actuator 
(Parallel System)
All FCE1232 beds 

manufactuered in SEPT 
2013 and NEWER

N/S 65-1008CBL 00914657-1250-B

Hi-Low Actuator Cable 
(Parallel System)
All FCE1232 beds 
manufactuered in 

SEPT 2013 and NEWER

15b 65-1232HDWR Mattress Retainer
(included in hdwr Kit)



18 134-1232 HB00-C001-00 & 
AC008-00-CN Hand Pendant

n/s 65-1232BUT Hand Pendant Button 
(on back)

N/A 65-12326 KIT-U128-00 3-Function Hand Pendant
with Nurse Lockout

N/A 65-12324 HB7560721=
60600 5-Function Hand Pendant

n/s 134-1232CLIP AC008-00-CN Hand Pendant Clip Only

65-1232018 Elevation crank

n/s 65-1232019 Slide rail

n/s 65-1232020 Mount plate

n/s 65-1232021 Cotter pin

n/s 65-1232022 Pin for hi-low motor 
1.5” long

n/s 65-1232023 Pin for hi-low motor 
3.5” long

n/s 65-1232024 M8 anti-slide screw cap

n/s 65-1232025 Screw 5/16” x 35”

n/s 65-1232026 Screw 5/16” x 28”

n/s 65-1232027 Washer (45#)

n/s 65-1232028 Screw wrap tube

n/s 65-1232029 5/16” nylon screw cap

n/s 65-1232030 Spacer sleeve

n/s 65-1232031 Strap for crank

n/s



n/s 65-1232032 Screw 5/16” x 35”

19 65-1009 CB6050-00 & 
AC014-00-CN

Control Box All 
FCE1232 beds 

manufactuered AUG 
2013 and OLDER

19 65-10092 CB6P2001-00

Control Box 
(Parallel System)
All FCE1232 beds 
manufactuered in 

SEPT 2013 and NEWER

n/s 65-1232038 Staff Control Kit

n/s 65-1232039
or 17-4901

SML12130002 Power Cord

n/s 65-1232TCB 0964224-A-D T-Cable

n/s 65-1070 912141 Actuator Cable

n/s 65-1232RSRC N/A "C" Clips

n/s 65-1232HFH N/A Head/Foot Board 
Screws / Studs

n/s 65-1232KNB N/A Replacment  Release Knob 
for FCE1232RSR Side Rail

n/s 65-LATCH N/A
Replacment  Release Knob 

for FCE1232RSRN Soft 
Touch Side Rail



n/s 65-1232ABNK N/A Replacment  Release Knob 
for FCE1232ABN Assist Bar

n/s 65-1232LOCK N/A One Touch Locking 
Brake of FCE1232BL only


	FCE1100B
	FCE1200B
	FCE1232B
	FCE1385B
	FCEALTMAXX



